[ mRI XY 19794 3] ]
PAS W
(1) p(x), q(x) #x D 3 WL FTOLEAX LT 5,

FTRTOXIZH LT p(x)cosx=q(x)sinx 2V 2272 51, p(X), q(X) (ZEFMIZ 0 1I2%F L
WZ L a2t
2 P(x), Q(X) Zx D 3L FOLHXL T 5, T_XTOXITH LT
P(x)cosx+J'0XQ(t)sintdt:(x2+2x+3)sinx
MR Sto L&, P(x), Q(X) ko X,
As A

(1) Beb4-o0ME x=0, 7, 27,37 1ZxtL, cosx=0,sinx=0 THY, p(x)=0 &5,

£oT, p(X) X3 WU T DT, HEMIZO LD,

FEIC LT, BApD 4H>0(HE XI%%E%E%E lZxtL, cosx=0,sinxz0 THDY,

q(x)=0 &%, XoT, q(X)IX3WUTOLEX DT, HEMZO0 L7225,

(2) P(x)cosx+J'0XQ(t)sintdt:(x2+2x+3)sinx @ OWHL%E X THS LT
P (x) cos x —P(x)sin x + Q(X) sin X = (2x + 2)sin X + (x> + 2Xx + 3) cos x
[P ()= (x* +2x+3)| cos x = {P(x) - Q(X) + (2x+ 2)} sin x

22T, P(X)-(X*+2x+3), P(X) - Q(X) + (2x+2) & HIZ 3 WU TOLEARTH D0 b,
DOFERELY P(X)-(x*+2x+3)=0 72> P(X)-Q(X)+(2x+2)=0

FoT P(X)=x*+2x+3 &V P(x)=%x3+x2+3x+C (C IR EH)

kv P0O)=0 72T C=0 &7225,

EoT P(x):%x3+x2+3x, Q(x):%x3+x2+5x+2 L b,



